Candle Center - Infinite Algebra 2 Name

Compound Inequalities Date Period

Solve each compound inequality and graph its solution.

1) n3—<1+ or4-n8-—< k k

-7 -6 -5 4 -3 2 -1 0 1 2 3 4 5 6

-8-7-6-5-4-3-2-101 2 3 45 6 7

3) 2<2x<6 4) 6<x+6<11

0 1 2 3 405 6 7 8 9 10 11 12 S0 1 2 3 4 5 6 7 8 9 101
5 -3<m-5<-1 6) p+4<lorp-12>1

6 -5 4 3 2 -1 0 1 2 3 4 5 6 7 6-5-4-3-2-10 123456 7

7) -33<-Tn-12<-26 8) 9+2b<70r7-5b<-8
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-5 4 -3 2 -1 0 1 2 3 4 5 6 7
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-4 3 -2 -1 0 1 2 3 4 5 6 7 8

9) 9-12r>-99and -2r-4<-12 10) 12+4n>440r 10— 12n>-38
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11) -Sbh-8<-680r 11b-12 <-100 12) 36 <11 -5x<66

T2 s a0 4 & 1 e P
13) -10-2v<6and 6v+ 12 < -6 14) 2x -3 <11 or—-8x—10<—82
D T T T R EEEEEEEE TR
15) 4b+18<-12b-14<14-5b 16) 4a+8>1la+15and 13 - 14a<13 -3a
T T R R N I R
17) 8p—13<-2+7pand20+4p<2p+ 14 18) 5v+10<—4v—17<9—2v
—iO:—:S:—I6:—:4:—:2:(:):é —14:—12:—i0:—I8I—I6I—I4I—I2
19) 14r+20<14r+160r8 —10r > 15-9r 20) X+ 18>8x+4o0r15x—15<15x+5
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Compound Inequalities Date Period

Solve each compound inequality and graph its solution.

_< —n8— k k
1) n3—<1+ or4-n8 f,.. \ Z)ZZIOrES—l

< O——+—+—
-7 6-5-4-3-2-101 23 45 6
n<-4orn>2

2 !
T

< o —tt
8 -7-6-5-4-3-2-1012 3 45 6 7

5
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k>4ork<-3

3) 2<2x<6 4) 6<x+6<11
+——t—t—t—ttt > —0 C——t—t—t—t—+>

01 2 3 4 5 6 7 8 9 10 11 12 10 1 2 3 4 5 6 7 8 9 10 11
1 <x<3 0<x<5
5 -3<m-5<-1 6) p+4<lorp-12>1

6 -5 -4 3 2 -1 0 1 2 3 4 5 6 ‘—7—6—5—4—3—I2—I1(I)1Ig34567’
2<m<4 p<-3orp=2
7) -33<-Tn-12<-26 8) 9+2b<70r7-5b<-8

4 3 210 1 2 3 45 6 7 8 "5 403210 1 2 3 45 6 7
2<n<3 b<-lorb>3
9) 9-12r>-99and -2r-4<-12 10) 12+4n>440r 10— 12n>-38

0 1 2 3 4 5 6 7 8 9 10 11 12 S0 1 2 3 4 5 6 7 8 9 10 11 12
4<r<9 n>8orn<4



11) -Sb-8<-680r 11b-12 <-100 12) 36 <11 -5x<66

< F e —— > < C———t
-12 -8 —4 0 4 8 12 16 -14 -12 -10 -8 -6 —4 -2

b>12o0rb<-8 -11<x<-5

13) -10-2v<6and 6v+ 12 < -6 14) 2x -3 <11 or—-8x—10<—82
I—i2l—iOI:§ -6 _4«_-2- 3 4 5 6\7vé\£|3’1011 12 13 14 15

—-8<v<-3 X<70rx>9

15) 4b+ 18 <—-12b—-14<14-5b 16) 4a+8>1la+15and 13 -14a<13-3a

-——tt—t—+—+—+— C——t—t S e e M Em e L
-10 -8 -6 —4 -2 0 5 4 3 2-10 1 2 3 4 5 6 7
-4<b<-2 No solution.
17) 8p—13<—2+7pand20+4p<2p+ 14 18) 5v+10<—4v—17<9-2v
< —t—t—t—+> “«——+ T
-10 -8 -6 -4 -2 0 2 -14 -12 -10 -8 -6 -4 -2
p<-3 —-13<v<3

19) 14r+20<14r+160r8 —10r > 15-9r 20) X+ 18>8x+4o0r15x—15<15x+5

< L —t t t t t t > < >
-12 -10 -8 -6 -4 -2 0 8-7-6-5-4-3-2-101 2 3 45 6 7 8
{ All real numbers. }

r<-7



